QP Code : 65630

(2 Hours) [ Total Marks : 60

N.B.: (1) All questions are compulsory
(2) All questions carry equal marks.

1  Attempt any two 15
a) Solow's growth model.
" b) Infinite Horizon model.
¢) Qverlapping generations model.

[
9]

2 A’ftempt/any two

a) Lucas critique

b) Incomplete information models

¢) Real business cycle theory. 15
3  Attempt any two

a) Real versus nominal rigidities

b) Efficiency wage model

¢) Search and matching model

15

4  Attempt any two

a) Indicators and instruments of macroeconomic policy.

b) Rules versus discretion

¢) Role of creidibility
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